
Lecture 4 : 06/29/20

Midterm : Fri July 10

through Mon July 6 lecture
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• Matrix transpose :

Given A
,
we call AT the matrix
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• Matrix Inverse :

→ we have matrix mutt . Question , is
there matrix division ?

Real numbers
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square
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|A-'=a÷bo(%-b# invertible
means you

Note : ad - bo fo Lean take inv .
• A 2×2 matrix is invertible if and

only if ad -be to

• ad - bc is called the determinant of
Ae

• We have been solving eqs of the
form

A-a = b

if A is invertible , then the solution is
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• Consequence of non commutivity
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Important
① keep track of which side you

put the inverse

② Matrix mutt . does not commute .

• If A is square A-
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